SECTION - A
Answer all questions from 1 to 6. Each carries 1 score. (6 x1=0)
Which among the following approaches in Human Development is associated with
Prof. Amartya Sen ?

{a) Income Approach (b) Welfare Approach

(¢) Basic Needs Approach (d) Capability Approach
Industries owned and managed by Government are known as
The pollution which causes various respiratory diseases 4

The term used to denote the uneven distribution of Information and Communication

-

Technology among countries and within a country.

Which among the following is not a mode of mass communication ?
(a) Newspaper (b) Television

(¢) Telephone (d) Radio

The process of enlarging people’s choices. increasing their opportunities for education,

healthcare etc. is known as
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SECTION-B

Answer any 6 questions from 7 to 14. Each carries 2 scores, (6x2=12)
7. Enlist the features of small scale manufacturing.

8. Complete the following table ;

Language Family Sub-Family
. Austro-Asiatic
e Ta) .
. Austro-Nesian
. 2(b)

o A

*  Siamese-Chinese

. Sino-Tibetan

*  Indo-European N

9. Compare the role of man in possibilism and neo-determinism.
10. Note down the aims of Hill Area Development Programme.

11, Match the fpllowing ;

A B .
Steel Plants States
*  Rourkela : *  Karnataka
| =  Bhilai | *  West Bengal
*  Durgapur »  Odisha
*  Visvesvaraiya ¢  Chhattisgarh

12, What are the problems of over utilization of groundwater ?
13. Write the social consequences of migration.

14.  Mention any two functions of World Trade Organization.

SY 37 . 4



EHTUG i) — enil

7 mymad 14 ciena] SR Ganaygmglal agomelers b apEpEniial QOOAAFI:.
2 eayod all@o. (6x2=12)
7. eaioeis pepsmanian LANGUBAHTIERIB nf) ¥ 1)

8. anues meloigas aisle and ol age)s |
[ @310 )S}efMIo R Daldb)Sleiio

Ll aumeso-ngapgdier

i o TRIUESI-CMNHYME

2(b) \
l

. 7
o milemo-lenigmd K &
. miaaglmi-eaaiafiod
I._ @nﬁcmm—m,qomu‘gnﬁ _L- 2Ad) _J

9, auoWEOANAETINEIR maaia] al@pruoniec) dMHieTq Al TODMEPE
S0 1Y)

10, @yriodpIcac Qlaaum aIRpEIwes CIsas ARG ABODEPOBAT af)§)De-

1. cal@pals) Galdaa)s

e o) . anit
EDDINIDANUE ruotrunamanud J
I: npcasel [ aBROSEo
o dleoo o sl oo
o adyoand e @ o
|; afleualwdie®y | nmmm‘ibn_ﬁmu”

12. eudenaomieg GRIImadw DAICRDUNDPIAETEIHTD (e nBa®EIRa 7
13.  alewgoniend MUOBR0} BRAORCLITTOBSNO AT
14, CERE QPO TUNEISMRINS AFO®BHIEL DEE a AMEIBDHUD ) ).

SY 37 5 P.T.O. .



SECTION-C
Answer any 6 questions from 15 to 22. Each carries 3 scores. (6x3=18)

15. Compare the features of the following population pyramids. (Figure A and B)
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16. Classify Indian railways based on the track width. Explain each.

17.  An industry has the following characteristics :
(i) Itisa seasonal industry.
(i) It uses weight-loosing raw materials.
(iii) Itis a location-specific industry.

Identify the industry and explain any two of the above characteristics.

18. The following are a few towns in India. Categorise them based on their function and
explain each category.
(a) Aligarh
{b) Tirupati

{c) Mussoorie

19. The concept of Human Development is built on four pillars. Identify these and expllain

any one.
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20. Mention the factors of tourists attractions all over the world and explain any one of

them.

.

21. What are the importance of the following factors in determining the location of modern

large scale industries 7

.

{a) Accessto market
(b)  Access to raw material

(¢) Access to labour supply
92, *The period 1901-1921 are referred to as the period of steady population growth.” Why ?

SECTION-D

Answer any 3 questions from 23 to 26. Each carries 4 scores. 3x4=12)
23, Identify the shipping canal depicted in the given map and mention its features.

= S 5

ATLANTIC OCEAN
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24.

e

26.

28.

29,

The following are the terms associated with migration. Explain each
(a) Immigration {b) Emigration

(¢} Push factors (d) Pull factors

“Nuclear energy has emerged as a viable source in recent times.” Justify the statement

in Indian context.

Explain the factors affecting the location of rural settlements in the world.

SECTION -E

Answer any 1 question from 27 to 28, Each carries 6 scores. (1%6=6)

Discuss the important characteristic features of Nomadic Herding and Commercial

Livestock Rearing.

Identify the two main fibre crops grown in India and explain the features of each.

SECTION -F

Identify and mark the following on the given outline map of India : (6 *1=06)

(a) The largest lignite field.

(b} A medieval tovin in Rajasthan.

(¢) The Peninsular State with highest population density.

(d) The port which is constructed to reduce the congestion at Kolkata port.

(e) The State in which the Watershed Management Programme “Arvary Pani Sansad’

was implemented.

(f) The State with lowest female literacy.

————ee
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